Name: Hour:

Classify all that apply for quadrilateral ABCD if:

Slopes Distances
Slope AB == = —'Z- AB? = 42 4 22 42 4 22 = B(?
AB = /20 BC = 2+/5
Slope BC = —% =| =2 AB = 245
42 + 22 = CD?
Slope CD =2 = i;: 42422 =AD?  |CD =25
AD = 24/5

| SlopeAD=_74= -2

ABCD is a parallelogram because O??Og\-\{ sxdes axe //

ABCD is a rectangle because L€ N oNVe ‘L7l rf(g)h'f angzes

ABCD is a rhombus because b & have L/ T sides

ABCD is a square because _[3)0 have l’/ Vlgh‘f' <s and L/ & glaes

MosY speevfie  closst feadion: Square.



